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908] o ik g (3 70) ik g 29. 09 44. 93
908] mox g (2 3) s 38. 63 44. 93
908] o AP () poake s | 27,81 31.65 | 31.65
908] o AN poxera zpp 4316 25 3165 ] 31.65
908] o s B 56.73 | 60 | 56.73 60
908] mox | FTTEIAETT R AT 51 58. 6
908] oz o (E3E) 2 (E3E) 58. 47 58. 47
908 07 B B 45.07 | 60 | 45.07 60
908] % 0 o (E3E) 2 (E3E) 49.11 | 32.8 J49.11 ] 49.11
908] 0 BoAFHEGE ) g mag |53 11| 60 |55.36 ] 60.53
908] 0 e By 43.07 | 60 | 43.07 60
:FREEN LT
10 B2 R 512 Y
0094 #r B 2 - 4

T i b s g o
909] 20w 2 (RE2) 2w (A®E<) 139.47] 50.5 ] 39.47]  50.5
909)] 0% F(EE) 2 (EE) 29.2 | 39.2 | 29.2 39. 2
909] o0 i g (F ) ik g 36. 91 48. 19
909] 20w ICES ik g 52. 09 48.19
909] o0 A g (2%) ik g 55. 57 48. 19
909] 20w B ARFLH (L) g Eag [33.07] 35 [34.77] 36.22
909] zom | "o poaamag 39.87] 34 [34.77] 3622
909] 20w B T 24. 6 24. 6
909] zom | mrowmTmy) W SR 56.4 | 60 |57.93] 60.33
909]  40p MG ERD) 2 (AmE2) |55.73] 60 ] 5573 60
909] %042 AP () poaramag 5207 ] 60 [54.29 ] 60.23
909 %o B e 46.47 | 60 | 46.47 60
909]  +04t 2 (F3) 2 (F3) 32.37 | 60 | 32.37 60
909] +r0% i g () i g 42.87] 25 [51.69] 52.86
909]  +0% g (3 30) ik g 56.49 | 60 |51.69] 5286
909] +r0% g (2 3) g 55.71 | 55 |51.69 ] 52.86
909]  +0% AP () poakd sy |42 60 | 41.7 55. 2
909] +o% kN porgaseg | 408 | 34 | 417 55. 2
909]  +04t o W 35.27 ] 30 |35.27] 35.27
909] %0z BoAFEGE) g mag |52.93] 60 |58.88 ] 64.18
909] %0% s W 48.2 | 60 | 48.2 60
909] 5E0sw 2 (%33) 2 (F3F) 37.32 ] 39.2 | 37.32] 39.2
909| sE03 BoAR A H (L) poaasag | o46.8 | 60 [52.59 | 62.49
909] 50 e s 42.33 ] 60 | 42.33 60
909] 0% 22 (RE2) 2w (2®E2) |51.47] 60 |51.47 60
909] 3&04@ F2(FFE) F2 (E3F) 36. 95 60 36. 95 60
909] 201 ik (F L) Ak g 50.6 | 60 |57.76 ] 60.89
909] €01 BAFEGE) poaked s |42 60 J47.48] 60.98
909] 5201 By g 41.33 ] 60 | 41.33 60
909] 30 T2 (EE) F2(E3E) 42. 96 60 42. 96 60




909] sEOzs ik g ) g 51.87 ] 60 |58.51] 61.22
909] sE0 poARFLH () o a sy 45,73 60 | 48.27 | 58.97
909] 30 kN poxera iy [55.88 ] 24 [ 48.271 | 58.97
909] sE0zs e s 40.13 ] 60 | 40.13 60
909] 4RO F 2 (H3%) 2 (33E) 49.8 | 60 | 49.8 60
909] 0w oA H () o ampp | 48.67 ) 60 | 5175 60.25
909] ko He s s 5.6 | 60 | 45.6 60
909] sE0x 32 (F3) 2 (F3) 55.83 | 60 | 55.83 60
909] 0z 2 (F3E) F2 (H3%) 49.91 1 60 | 49.91 60




